AN AN

MULTI-ROTOR TECHNOLOGY

500

SPEC:

Diagonal Wheelbase:950mm
MAX.Prop.18 inch
www.gauimrt.com.tw N 4 Total weight:1900 g £3%




Please install the frame posts to the upper-frame as the figure shows.

AFERfEaNE RS S EAR -

%
¥ ¥ v M3x5

¥ | | | ¥ “ /

! ® ‘ ! [ =

| I ! ¥ “ [ | | /@y Al Screws need to be
“ L “ L 4 , 4@Yapplied with thread locker.
o ® o U R A -

| | | | | |

IR [ D b

;! | L |

| S |

Install down-frame as the figure shows.

A1 S T ARAN T ElHREEE -

$
L | H
¥ ! |
» ‘ ‘ ! M3x5
¥ ', | : ¥ /
\ \ ! | [ >
\ | ? ‘ | ? / *. All Screws need to be
\ L | | | A Yapplied with thread locker.
’\ I N ke LB
1
I

Please install "boom mount” to the frame as the figure shows.

IS EREINEHEKS

M3x5
AN

"' All Screws need to be
A yapplied with thread locker.
N BB LA RE -

before any take off flight.
FATANE B RRERD LR E D EHER

o

Tighten the screws as figure shows.

ek 5 A L0 B $H_E8FHh -

A yapplied with thread locker.

|

1 Yy ? ? ‘ ')' All Screws need to be
|
| N kR LA




After the boom insert to motor mount, screw the M3x5 first and then tighten
M2x8 and M3x8 after.

EE TR A FSIZ R - SEASMIXOTE (L EEHhEH L F SHEEM2x8 RRM3x8Z i

T 0
‘? ' M3x5 “szs

(,»*\‘ All Screws need to be
A yapplied with thread locker.
N BB LA EE -

$

el
M3x8

Insert boom to boom mount and screw M3x5 as figure A shows to secure boom position.
Adjust motor mount and body to level then tighten the M3x8 as figure B shows.
AEEhE AN B 1R A TE (18 $H E BATE (785%h » WIEHE e K i 5 SRR 2K 4 8HER
[EBiZ A

o

Assemble landing gear boom as figure shows, and install whole landing gear
to body frame.
AERIZRTE R ek ® - BRREENRIAN TEHEEERS -

(,»*\‘ All Screws need to be

A (Yapplied with thread locker.
,(, IR LR o

RRS

N

A

Reinforce board need to be
installed vertical with body frame.

LR REE S RITER -

Connect two landing gear wires with Y connector, then connect Y connector to
BEC and receiver as picture shows.Please choose proper channel when
connect the Y connector and receiver. . . .
W AT SR B Y B+ S Y B AN B BEC R+ SRS
EETEAEREREE -

YRR

Y connector

Positive and negative have
to correct when connecting.

MR ER BRI

Use tape to secure the
connection and to prevent
the connection come off
while flying.

{5 FA BB S 7 B @ S0 RO 13
I BIETE - DU s AT
SRR -
B
Tape




Please lift the 950Q and test the folding landing gear after
complete the installation.
Attention: There is about 1~1.5 second of delay between on/off switch,

do not repeat on/off switch operation within short period of time.
LRI E ARSIt E AWM ESIBm R E RS -

Sy =z

AR BRI REAEE R 1~1. SRR EFEIRSRE - T RLEERRS o

Power distributor board can be placed in three

different positions depend on demand.

AR SRER D ERAET « - B=(EHEUE -
"*\‘ All Screws need to be

It yapplied with thread locker.
,(, BRHRI9TE LB -

XT-90 ar?chor plate
XT-90[& % &

A ,Vapplied with thread locker.
N B9 EE -

‘ /")“\‘ All Screws need to be

2. Adjust the sliding track to require distance.

KA EERtEAEE ST -

1. Install sliding track to the frame as figure shows.

BERBHENALEHERS

MRT Sliding Track

ZhERER FEHE

]

3. Install gimbal hanger and use M3x6
screws to secure it after checking
all units are in proper position.
HRUEREK FESMIZRMIX6LENT
BRRRTE (L ©

(AR

o [ R
’ {/ S R Rpnresaon

N % —>(
;\VF [ 122 R feapssrverawer

e

W I

WVFI— 60mm —ﬁﬁf

g oo

N N '
M3x7  M3x10 ?ﬁ!
As illustration above,

assemble the battery tray.

S E i ARAELN_E B -

60
W R W

MRT Shared Battery Tray
ZheRH A ERAE

Indeed secure the battery with
using rubber ring.

AEHRIEEEREHEE -

155mm

Velcro tape.
BERE

Battery tray and batteries
need to stick with Velcro tape.

BT NEN L ERE -

Set the required distance by
adjusting battery clamp.
AIKFTEREREEREE T E T -




